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Who has propounded the theory
of ‘Hierarchy of Needs’ of
motivation ?

(X) A H Maslow

(B) Mouerer

(C) Atkinson

(D) Mcclelland

What kind of co- uﬁ&
exists betw
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ey
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(D) All of these

What kind of behaviour is juvenile
delinquency ?

(A) Anti-Social

(B) Schizophrenic

(C) Hereditary

(D) None of these

The activity technique is :
(A) Class centred

(B) Teacher centred

(C) Subject centred

(D) Student cel:xtmd
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Wlmt does 'O’ stand for in

Woodworth’s '5.0-R' model ?
(A) Stimuls

(B) Organism

(C) Response

(D) Behaviour

Development is a process:
(A) Split

(B) Continuous

(C) Whole

(D) Broken

The School of Behaviourism was
originated by :

(&) J.B. Watson

(B) Freud

(C) Carl Jung

(D) None of these

| Each gene is made up of :

(A) DN.A.

(B) RNA.

(€) Chromosomes
(D) All of these
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Conversation is example of:

(A) Sensory motor period stage
(B Pre-operational period s!
(C) Concrete operational stogo

(D) Formal operational stage

Physical development is the field
of:

(A) Growth of Bones

(B) Growth of nervous system
(C) Growth of muscles

(D) Allofthese

Autonomy versus shame and

doubt is the stage between
(A) 0-1year
(B) 4- 6 years
(C) 2-3years
(D) 11-12 years

Animism nature found in the chilc
during which stage ? |
(A) 1d
(B) Ego
(C) Superego
(D) All of these
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Originality troits found in:
(A) Child of rich family
(B3) Child af poor family
() Creative child

(D) In avernge child

Who conducted the experiment on
forgetting 7

(A) Ebbinghaus

(B) Woodworth

(C) Stout

(D) None of these

Who said "Two children have n

common abilities" ?
(A) Hurlock

(B) Sorensun

(C) Woodworth
(D) Crow & Crow

How will you eliminate stealir

habit of student ? i
(A) Giving rewards

(B) Giving examples

(C) Scolding him

(D) Giving punishment
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Diagnosticis:
(A) Learning
(B) Tenching
(€} o know the difficulties

(D) None of these

Educational Psychology is hel ped
in :

(A) Toknow self

(B) To know the child

(C) To select methods of teaching

(D) Incomplete education process

Creativity isidentified by
(A) Old behaviour

(B) Drawing «

(C) Music

(D) New result

Egointegrity vérsus' despair stag
lies betweeri'. =
(A) 30 - 65 years
(B) 20 - 30 years

(C) 65 years and above
(D) 12-19 years
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Vocabulary of the infant becomes
the end of second years

(A) 50 words

(B) 272 words

(C) 310 words
(D) 4560 words

How you will change the
cramming habit among students .

(A) Increase co-curricular
activities

(B) Change the teaching methods

(C) Inecentive to creative activities

(D) Change

techniques.

in evaluation

Learning curve means :
(A) Progress indicator oflearning
(B) Originality

learning

indicator of

(C) Dynamicindicator of learning

(D) Creative indicator of learnin:

What is the important factor i
human development ?

(A) Heredity
(B) Environment
(C) Heredity and Environmen
(D) None of the above
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ITow many pairs of chromosomes
are there in our body 7

(A) 23

(B) 25

(C) 19

(DY 17

The‘Psychﬂlogicﬂl method of
individual study of a child is :

(A) Rating scale

(B) Questionnaire

(C) Case study

(D) Experimental method

Who has formulated the types of
intelligence such as (i) Concrete
intelligence, (ii) Abstract
intelligence and  (iii) Social
intelligence ?

(A) Spearman

(B) Thurstone

(C) Stern
(D) Thorndike

Who . established the first

Psychological laboratory ?
(A) Galton
(B) Hull

. {(C) Wundt '

(D) Watson
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Encoding is a process of :
(A) Forgetting

(B) Memory

(C) Sensation

(D) Emotion

Storage is a process of the

memory :

(A) First

" (B) Second

(C) Third
(D) Fourth
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31. A lion’s share’ moans

---------------

(A) The lion's Piece of ment
(B) The term used in shnre markot

(CGF"An ' i
: arrow escape from lion's
attack

M) A big share of something

32.  “Close the window’ — change into

passive voice,
(4)" Let the window be closed.

(B) Let the window was closed.

(C) Let the window has closed.

(D} Let the window is elosed.

33.

(B) He asked the matter to the
police

((% He reported the matter to the
police |

(D) He replied the matter to the

police

34,

37.

Who is known as ‘the father of

[inglish Drama’ ?

(&7 William Shakespeare -
(B) William Wordsworth
(C) John Milton

(D) John Keats

‘AMImMe' 1S ..oovceevieennnn.

(A¥” A theatrical entertainment
with only one character

(B} in which characters tell a story
by gestures

(C) areligious drama

(D) comic episodes

Money makes the .............cco..... go.
(A) hare
(B) horse

(C) mare

A0) man
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Alittle knowledge i 0 .o
thing,

(A) beautiful
(B) nice
(o3} dangerous
(D) good

Heisnot ....oooovevveeennnn, clever as his

brother
(A) so
(B) as
(C) too
(D) much

You will win the first prize

sresersinennsss You work hard.

(A) evenif
(B) even though

@y if
(D) unless

you will be

(A) and
(B) without
€) or

(D) unless

43.

44.

I waited for him .....ccoeeiemeres

arrived.
(9)’ until
(B) upto
(C) till

(D) yet

Seleet the word which is most
opposite in meaning to the word

ACTIVE.

() lazy

(B) lethurgic
(C) inactive

() passive

Select the word which is most

opposite in meaning to the word
ALWAYS.

(A) forever

(B never
(C) once

(D) ever
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Select the word which means

exactly the same to the word
BEAUTITUL.

(N)/ﬁt'ctty
(B) lovely
(C) smart
(D) desmart

Select the word which means
exuactly the same to the word
FFUNNY.

(A7 humorous
(B) excited
(C) rude

(D) jealous

Note : Select the nearest meaning

for the Idiom / Phrase for Questions
No. 47 to b1.

47.

We should guard against our
il

green-eyed friends
(A) jealous

(B) - handsome

(C) rich

(D) enthusiastic

48.

49,

50.

51.

He had a hair-breadth escape

from the accident
(AY narrow

(B) lucky

(&) casy

(BT quick

All his efforts ended in smoike.
A) goton fire

(B) burnt up

() appreci ated

(P7 come to nothing

Ram decided to

bury the hatchet.

(A To keep a secret

(B) To fool

(C) To make peace

(D) To bury the wealth

Gopal is different student. He is

often all at sea.

(A Cbmplet_ely confused
(B) S}}ucked '
(C) In danger

(D) Intelligent



Where is the boy nboulb oo

52.  Who snid “English is our | 6b.
major window on the modern you were speaking ?
world"”, (A) whom
(A) Mahatma Gandhi (B whose
(B) Palmer {(C) who
(C) Thompson and Wyatt @) him
JDT- Pandit Nehru
86. He hanged himself ...................
53.  William Shakespear was a great - piece of cloth.
(A) Essay- Writer (A) of
g})/Dramatist (B) by
(C) Actor (C) with
(D) Poet . (D) at

54. I first met him .........ccccruveeee. yOAT 57. She writes slowly .............

ago. _ neatly.
LAY an (A) if
(B) a (B) since
(C) the (C) that

(D) of ; M) but
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Synonym of Tishy’ iS ..uceveeerereesiones
(A) suspicious

(B) afish

(G aquatic
(D) whale

Antonym of ‘Adore’ is ........oeceieiine

(ﬂf)’!]ove
(B) dislike

(C) worship

(D) curse

The word ‘Oasis’ MEANS ....ccoenurensees
(A) a brand name
M a shady fertile place in deserts

(C) an open secret

(D) achild whose parents are dead
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93.

The L.C.M. of two numbers is 45
The numbers are in the ratig o

9 : 3. The sum of the numbers {59

(A) 64

(B) 32

(C) 40 o {\
(D) 28 ;\

92 @d:aganals of the

adrilateral bisect each other
then itis?

(A) Trapezium
(B) Square
(C} Parallelogrem

(D) Rectangle

The mean of 10 numbers is 20. 153

is subtracted from every n==her:
What will be the new mean?

(A) 15
(B) 20
(C) 25
(D) None
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95.

96.

What amount is to be repaid on a
loan of Rs. 12,000 for 1% years at

10% annum compounded half
yearly 7

(A) 15350.560

.(B} 13891.50

(C) 16892.60

(D) 19890.50

Which is not a 3-Dimensional

shape 7

(A) Cone
(B) P};rnrnid
(C) Cubeid

. |
(D) Regular Hexagon

Which of the following numbers

are co-prime ?
(A) 18 and 35

(B) 30 and 416

(C) 17and 68

(D) None of thesa
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(A) 5:3

(B) 8:5

(C) 9:5

M) 5:9
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On a morning walk, three persons
step off together. Their steps
measure 80 cm, 85 cm and 90 cm
respectively, What is the minimum
distance each should walk so that
all can cover the same distance in

complete steps 7
(A) 7200 cm
(B) 12240 ¢m
(C) 7950 em

(D) 6800 cm

The probability of an event 1s

always ?

(A) Greater than one

(B) Less than one

(C) Less than and equal to one

(D) Greater than and equal to one

Ratio of 90 em and 1.5 meteris:
(A) 6:3
(B) 3:5
(C) 9:5

(D) 5:9
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(B) T 31
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10, oo - i
0.01 +0.81 + V1.21 + 0.000¢ 101.  What is the value of

WA F=4 ' ?

VO.01 + V0.81 + v1.21 + v0.0009 ?

(A) 2.13 A) 213
@B 2.11- (B) 2.11
(C) 2.1 (C) 21
(D) 2.08 (D) 2.03

102. 3 cosec 20° —sec 20° F1 HI B | 102, Thevalueof 3 cosec 20°

—8see 20°
5 4 . is: |
55/ . I . " {A) 4
L ' (B) 4
() 8 ) '
. (C) 8
@ 2

(D) 2
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AR athte = 0 M asbre? AT
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(A) 0

(B) abe

(}V 3 abe

(D) 2 abe

i e gem & o A 45 s fu
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(@Y 32
M) 18
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A) 505

0.320
® 55

103.

104.
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If a+b+c=0then at+b*+c? is equal
to:

(A) 0

(B) abc

(C) 3 abe
(D) 2 abe

If 45 i.s added to half of a number
the result is triple the number. The
number is :

(A) 64

(B) 48

(C) 32

(D) 18

Which of the following has

largest value :

32
0.05

0.320
B)
(B) a0 3

3.2
(C) 005

3.2
(D) y

(A)
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(}Y 20%
(B) 24%
(C) 9%

(D)} 14%

225%%111?3@%:

(A) 9:4
(B) 4:9

106.

107.

108.

Interest on Rs. 12000 at the rate of

10% per annum for one month 15

(A) 1200
(B) 600
(C) 100

(D) 120

A fruit-seller purchased 20 kg.
apples at Is. 50 per kg. Out of these
5% of apples were found rotten. If
he sells the remaining apples at
the rate of Rs. 60 per kg. Then his
profit in percentageis:

(A) 20%

(B) 24%

(C) 9%

(D) 14%

225% is equal to :
(A) 9:4
(B) 4:9

(C) 9:5

D) 12:5



o2 ors a distance of 120 km,
U6 1 120 foefy, T T 4 A 109, Acarcoversadi

e .+ 4 hours. How much speed of 4
mw%i?ﬂﬁﬂ'{ﬁﬁ\ﬁ in 4 hou .
T 5 S 50w 3w

car should be increased to cover the

T W same distance in 3 hours.
{B¥ 10 TRl /mfy ey (A) 10km/h
(B) 25 fifxf, rmfy vy (B) 25 km/h
©) 18 w0, raf woy (C) 18 km/h

D) 12 fEimfy o (D) 12 km/h
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110. If LCM and HCF of two numbers
is 280 and 14 respectively. If one

number 18 70 then other number

(A) 40 -

(B) 100 (A) 40
(C) 144 (B) 100
A 56 (C) 144

(D) 56

L o 5 7
111, T o A i @ wemn ™2 &% | 111. Which of the following number

ara o T8 % : does not lie between —-% and % .
a) -° | ' ?
8 (A) ~
17 17
_ _.2-3 (B) ~%
3 LB
© -3 | 0 =3
11 . M) 2

(D) =T | 12



113.

114.

115.

Thﬁmﬁﬁ5%§WMﬁm
mém : ﬁ'{ﬁdﬂfﬁ'
mﬂﬁﬁ}quwl
LAY 15
(B) 10
(C) 10
(D) 8 |
J
GEE R LT LT R

(A7 200+ 304 g0
-(ﬁj 20 %30 % 40
(C) (3" -2) x 4°
@ (@ -2 x (3 +29

yrRfae TEy fEa ® ga 76 67
(A) 9 @

(B) FEeA B

(C) TH H -

By T ®

qa;-ngrgg:ﬂﬁ‘ﬂaﬂ"f eTE, & 39
Fod € 7

(A) SR

(B)gqmﬂﬂ"iﬁ

(C) T

=

112.

113.

114.

115.

10 men or 12 women complete one
job in 10 days. In how many days
5 men and 6 women together

complete the job.
(A) 15
(B) 12
(C) 10
(D) 8

Which of the followingis=1:
(A) 27+ 3%+ 4°

(B) 20 x 3% x 4°

(C) (8°—2) x 4°

(D) (8°—-2% x (3°+ 27)

Natural numbers are not clesed
under ?

(A) Addition
(B) Subtraction
(C) Multiplication

(D) Division

The name of a regular polygon of 4
sides is called 7

(A) Rectangle
(B) Parallelogram
(C) Trapezium

(D) Square



116.

117.

18.

119.

= & 4 fog wo =l fam
qe&n B ?

(A) 431

(B) 2826

(©) 7778

(D) 82004
frefafas § 9 v i ¥en =m
W 2, @ 1300 % igd W wE 7o
1 Hem 94 W ?

«b 66

(B} 68

(C) 64

(D) 63

Yaravel % WY-TE e T U
T H T F A w € 2
(A) EXAHE

(B) S

4¢) uftmm
(D) T @ B T

116.

117.

118.

119.

The squares of which of the
following would be odd numbers ?

(A) 431

(B) 2826
(C) 7778
(D) 82004

The least number that must be
added to 1300 so as to get a perfect

sgquareis ?
(A) 66

(B) 68
(C) 64
(D) 69

The distance along a line, forming

a closed figure, when you go round
the figure once is called ?

(A) Area
(B) Volume
(C) Perimeter

(D) None of these

Amount of region occupied by a

solid is called ?
(A) Surface Area
(B) Volume

(C) Density

(D) Circumference



q= 1,08
TH ¥ =9 Ty )

({5}{”’0.108

(B) 0.18

(D) 0.03

» 036 it 0.9 57 wod.

120. H.C.F.of1.08, 0.36 and 0.91s?

(A) 0.108
(B) 0.18
(C) 0.9
(D) 0.03



SECTION-V : EVS (Sci.), GK and EVS (SST)

21, ‘wR ofE @' @ gemEes | 121, Chemical formula of 'Plaster of

o Paris':
(A¥ CaSO,.2H,0 (A) CaS0,.2H,0
3 ' 3

(D) CaSO4 H,0 (D) CaSO "HZ%{\

122. TO-¥IEEX HiF g 2 7 : m the follow:ng is an
(A) Yo % ﬁ;b phibian ?

(A) Frog

(B) Starfish

(C) Electric Ray
(D) Octl,opus

123. WrE W M w gEvd ® 9@ | 195 What is the range of human

w8 ? 't “hearing ?

| (A) 20 Hz -'200 Hz (A) 20 Hz - 200 Hz
(B¥ 20 Hz - 2000 Hz (B) 20 Hz - 2000 H
(C) 20Hz-2Hz . . (C) 20 Hz - 2 Hy

(D) 20 Hz - 20,000 Hz D) 20 H - 20,000 Hz




125.

126.

127.

Who built 'Sanchi Stupa’ ?.

Wil w1 :
W9 s asaen 2 124.

(A aryiter :

B (A) Ashoka

© Rl (3) Chandergupta
) HHRTE (C) gamundergupta

(D) fas=x (D) Alexander

A T F owim ow e T
Gﬂfﬂ%?

125. Which acid is present in 'Sting of

Ant'? )
(A) Lactic Acid

(A) dfgesw ars

(B) fafew == (B) Citric Acid

(C) WIiawH a7 (C) Formic Acid

(B) wfafem sva (D) Acetic Acid

qrgea | AL 1 fpat W | 126, Whatls the percentage of Nitroge:
e 7 in atmosphere ?

(A) T5% (A) T5%

(B) 76% (B) T6%

(C) T7% (C) TT%

(B) 78% (D) 78%

127. In which industry Lime stor

used as raw material?

(A) Aluminium
(B) Sugar

(C) Cement

(D) All of the above




128.

130.

131.

Tt TR O W o
(A) T
(B) T

(C) "9

(D) gt

(A) 5 fogmer
(BY 22 a7iw
(C) 23 ==t
(D) 14 wEv=r

femee ww ® W W wmE
1993 H Hi%e T W wgd |l
forva =1 v %0 oY Al wEH
o ?

(A) FHAAY HAR

(B) ¥=ig 415

D) = -

LLUITETF

128.

129,

130.

131.

What is the Sanskrit name of River
Ravi ?

(A) Vipasha

(B) Iravati

(C) Chanderbhaga

(D) Satudri

The great revolt of 1857 started
FrOM ..ovvevenseenes

(A) Jhansi

(B) Gwalior

(Cy Lucknow

(D) Meerut

When does World Earth Day
celebrate ? '

(A) 5September
(B) 22 April

(C) 23 March

(D) 14 November

Which girl of Himachal Pradesh

became the youn gest summiteer to

set foot on top of the Mount Everest

in 1993 was 2
(A) Kamlesh Kumari

(B) Santosh Yaday
(C) Dicky Dolma

(D) None of the above



132,

133.

134.

135.

@) .

T A R g
(" Fot Tt - s
(B) W T - fir
(D)fq?ﬂ?rﬂ;\-ﬁ,/_ﬁ??F

m'ﬂmﬁ%ummaﬂqa?
(1952-56)

(&S e mEEE

(B) L. daH EE

(C) HIu FAX

arra i pH A e € 2
(A) 7.2
(B) 1.8
© 66
@) 74

134. Who was the first speaker of Lok

Sabha ? (195‘2-56)
(A) G.V. M'a\;flankar
(B) Dr. Balramd akhar

() Miera Kumar
(D) GMC Balyogi

135.. What is the pH value of human
blood ? |

(A) 7.2
(B) 7.8
(C) 6.6

(D) 14




136. '‘amda gEmmt fra T 3

137.

138.

139.

(B) erAFfa

e fe a1 2
(A) I WRYT
(B) s

(C) e
(D) A2 [y

mﬁaﬁ?aﬁm@w(
W) H SER R § 2

(A) faarifas A

(B) faerfus B

(C) faeifmm C

(@) fa=if= D

g &1 a9 el s H wel
feerg € ?

(A) Teserd

(B) ==

(C) =Tl

(D) fmin faen

feerfaa &2 w_mww%.?'
(A) ¥rafad

O R CELSIEE
P S A [T

136.

137.

138.

139.

Which state government has

gtarted "T'ansen Samman'.
(A) Uttar Pradesh

(B) Gujrat

(C) Maharashtra

(D) Madhya Pradesh

Deficiency of which vitamin causes
RICKETS discase ?

(A) Vitamin A

(B) Vitamin B

(C) Vitamin C

(D) Vitamin D

Where in the world's highest
polling booth situated ? :

(A) Hikdm

(B) Tashigang -

(C) Kaza

(D) Reckong Peo

|
What is the other name of vitamin

B27?

(A) Thiamine
(B) Hemoglobin
(C) Riboflavin

(D) Dextrose



140.

141.

142.

143.

I 099
L T
LU ST

(A) STtey
(B) gy
(€) IR
(D) ITaqR

BT =T w7 forerarg frg ad
o e mn 2

(A) 2010

(B) 2011

() 2009

@) 2012

Wqﬁﬂﬁ‘ﬂﬂmmﬁ'f

140,

141.

142.

143.

Where is pPUSHKAR MELA

celebrated ?
(A) Jodhpur

(3) Jaipur

(C) Ajmer

(D) Udaipur

Rohtang Tunnel foundation stone
was laid in which year 7
(A) 2010

(B) 2011

(C) 2009

(D) 2012

Which of the following countries 18

not & permanent member of
United Nations Security
Council 7

(A) France

(B) China

(C) England
(D) German

C

Who was the first Lokayukta
Himachal Pradesh ?

(A) R.S.Pathak

(B) T.V.R. Tatachari

(C) Heera Singh Thakur

MY D WMallhakena



144,

145.

146.

147.

AR T F ey
Al g
(A) 5

B) 10

(C) 15

(D) 20

(C) —45° C
(D) -50° C

CNG @1 T famm & -
(4) FHERE T
(B) T “roRe ™
() FET Faw
@) witgs e T

146.

147,

anent me
How many permats Tbgy.
. ited Nations SEEUI‘ity

At which temperature Celsius and

Fahrenheit are equal

(A) —30° C
(B) —40° C
(c) —-45° C
fD) -50° C

Full form of CNG :

(A) Combined Natural Gas
{I*f';) Clean Natural Gas

(C) Carbon Natural Gas

(D) Cnmpressbd Natural Gas

Where is Sambhar Lake located ?

_ (A) Rajasthan

(B) Jamimi Kashmiz
(C) Orissa '
(D) Kerala



148.

149.

150.

‘Teurem W
e Bl dEw 148. Wh“i“h‘“‘-’rit
- Qrq

FHH € ?

(AT TTAT AR
(B) =4 fue

(C) wrergs wiefl
(D) WM Hied =See

aErER el fediform woerg @9 | 149

o o ?
(A) 1940
(B) 1942

ey 1945
(D) 1948

Q0000

150.

Lal Chhayy' 9 | IHim“l"}'“ Pur

(A) Shantg
(B) Karam Singh

Kumgr

(C) Litlﬂhﬂnll Prﬂl’thi

(D) Jag Mohan Balokhra

When was atom bomb dropped on

Hiroshima and Nagasaki

(A) 1940
(B) 1942
(C) 1945

(D) 1948

Who is the Chief Election
Commissioner of India

(A) Naveen Kumar

(B) Achal Kumar

(C) Sunil Arora

(D} Om P]_‘ﬂkﬂ.ﬁh




